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29. Multiply:  (9𝑥 − 5𝑦)2  
             

A. 81𝑥2 − 90𝑥𝑦 + 25𝑦2                  B.    9𝑥2 + 25𝑦2                 C.   81𝑥2 + 25𝑦2              
 
      D.   9𝑥2 − 90𝑥𝑦 + 25𝑦2          E.   81𝑥2 − 25𝑦2 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
It took a copier from 11:12 am until 11:22 am the same day to complete an order that required 45 copies.  If the next 
order is begun at 5:58 pm and requires 135 copies, what is the earliest it will be done? 
 
         A.   5:28 pm          B.   6:28 pm          C.   6:58 pm          D.   6:32 pm         E.   6:18 pm 

 
Solution: 

                  

 
 
 
 
 
 
 
 
 
 

Each week, we’ll reveal the answer to the previous week’s question! 
 

Visit us at WWW.NCEMPT.ORG 
for additional resources or to register to test for FREE! 

 

 Set up a proportion comparing the # of copies 
to the # of minutes for each order. 
45

10
=
135

𝑥
 

Solve the proportion 
45𝑥 = 1350 
𝑥 = 30𝑚𝑖𝑛 
 

Since the second order stated at 5:58, 30 
minutes later would be 6:28pm. 
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